JOURNAL OF APPROXIMATION THEORY 40, 134-147 (1984)

Orthogonal Polynomials and Their Derivatives, I

STANFORD BONAN AND PAUL NEVAI*

Department of Mathematics, The Ohio State University, Columbus, Ohio 43210, U.S.A.

Communicated by R. Bojanic

Received March 28, 1983

Complete characterization is given for all orthogonal polynomials whose derivatives are linear combinations of at most two polynomials of the same system.

Ever since 1915 when Luzin [16, p. 50] asked whether there are any orthogonal systems in addition to the trigonometric system that are invariant under either differentiation or integration there have been several investigations conducted towards finding all the orthogonal polynomials whose derivatives satisfy certain conditions. Such problems have been solved, for example, in [2, 4–13, 15, 19, 20].

In this paper we give a complete characterization of all orthogonal polynomials whose derivatives are linear combinations of at most two polynomials of the same system.

Let $d\alpha$ be a finite positive measure on the real line with infinite support and finite moments. Such a measure $d\alpha$ will be called a distribution and the corresponding system of orthonormal polynomials is denoted by $\{p_n\}_{n=0}^{\infty}$, where $p_n(x) = p_n(d\alpha, x) = \gamma_n(d\alpha) x^n + \cdots$, $\gamma_n > 0$. These polynomials p_n satisfy the three-term recurrence relation

$$xp_n(x) = a_{n+1}p_{n+1}(x) + b_n p_n(x) + a_n p_{n-1}(x),$$
(1)

n = 0, 1, ...,where $a_0 = 0, a_n = \gamma_{n-1}/\gamma_n, n = 1, 2, ...$ and

$$b_n = \int_{-\infty}^{\infty} x p_n^2(x) \, d\alpha(x).$$

Our results are summarized in the following proposition.

^{*} This material is based upon work supported by the National Science Foundation under Grant MCS 81-01720.

THEOREM. Let $\{p_n\}_{n=0}^{\infty}$ be a system of orthonormal polynomials corresponding to some distribution $d\alpha$. Then the following statements are equivalent.

(i) There exist two integers j and k and two sequences $\{e_n\}_{n=1}^{\infty}$ and $\{c_n\}_{n=1}^{\infty}$ such that j < k and

$$p_n' = e_n p_{n-j} + c_n p_{n-k}$$

for n = 1, 2,

(ii) There exists a nonnegative constant c such that

$$p'_n = (n/a_n) p_{n-1} + ca_n a_{n-1} a_{n-2} p_{n-3}$$

for n = 1, 2, ..., where a_n denotes the recursion coefficient in (1).

(iii) There exist three real numbers c, b and K such that $c \ge 0$, if c = 0 then K > 0, and the recursion coefficients a_n and b_n in (1) satisfy

$$n = ca_n^2 [a_{n+1}^2 + a_n^2 + a_{n-1}^2] + Ka_n^2$$

for n = 1, 2, ... and

 $b_n = b$

for n = 0, 1, 2, ...

(iv) The distribution $d\alpha$ is absolutely continuous and there exist four real numbers D, c, b and K such that D > 0, $c \ge 0$, if c = 0 then K > 0, and

$$\alpha'(x) = D \exp \left[-\frac{c}{4} (x-b)^4 - \frac{K}{2} (x-b)^2 \right]$$

for $-\infty < x < \infty$.

Moreover, if c is given by one of the statements (ii), (iii) or (iv) then in the remaining statements it has the same value. The same comment applies to b and K in (iii) and (iv). If c is given by (ii) then b and K in (iii) and (iv) would still be arbitrary except if c = 0 then K must be positive.

Proof. The implication (ii) \Rightarrow (i) is obvious. We will prove (i) \Rightarrow (ii) \Rightarrow (iii) \Rightarrow (iii) \Rightarrow (iv) \Rightarrow (ii). We need to show (iii) \Leftarrow (iv) because of the comments made about c, b and K.

(i) \Rightarrow (ii): Since p'_n is a polynomial of degree n-1 the index j must be 1 and by comparing leading coefficients we obtain $e_n = n/a_n$. Hence

$$p'_{n} = (n/a_{n}) p_{n-1} + c_{n} p_{n-k}.$$
⁽²⁾

First assume that k = 2. Then

$$p'_{n} = (n/a_{n}) p_{n-1} + c_{n} p_{n-2}.$$
(3)

Differentiating the recurrence formula (1) and evaluating p'_{n+1} , p'_n and p'_{n-1} by (3) we obtain

$$x\left(\frac{n}{a_{n}}p_{n-1}+c_{n}p_{n-2}\right)+p_{n}$$

= $(n+1)p_{n}+\left(a_{n+1}c_{n+1}+b_{n}\frac{n}{a_{n}}\right)p_{n-1}$
+ $\left(b_{n}c_{n}+a_{n}\frac{n-1}{a_{n-1}}\right)p_{n-2}+a_{n}c_{n-1}p_{n-3}.$

Expressing here xp_{n-2} in terms of the recurrence formula and dividing both sides by n/a_n we get

$$xp_{n-1} = a_n p_n + \left(\frac{a_n a_{n+1} c_{n+1}}{n} + b_n - \frac{a_{n-1} a_n c_n}{n}\right) p_{n-1}$$
$$+ \left(\frac{a_n b_n c_n}{n} + \frac{a_n^2 (n-1)}{a_{n-1} n} - \frac{a_n b_{n-2} c_n}{n}\right) p_{n-2}$$
$$+ \left(\frac{a_n^2 c_{n-1}}{n} - \frac{a_n a_{n-2} c_n}{n}\right) p_{n-3},$$

which compared with the recurrence formula leads to

$$a_n c_{n-1} = a_{n-2} c_n, (4)$$

$$na_{n-1}^2 = a_n a_{n-1} b_n c_n - a_n a_{n-1} b_{n-2} c_n + (n-1) a_n^2$$
(5)

and

$$b_{n-1} = b_n + \frac{a_n a_{n+1} c_{n+1}}{n} - \frac{a_{n-1} a_n c_n}{n}.$$
 (6)

It follows from (4) that

$$\frac{c_{n-1}}{a_{n-1}a_{n-2}} = \frac{c_n}{a_n a_{n-1}}, \qquad n = 3, 4, \dots$$

so that there exists a constant c such that

$$c_n = ca_n a_{n-1}, \qquad n = 2, 3, \dots$$
 (7)

136

137

Substituting (7) into (5) and (6) we obtain

$$na_{n-1}^2 = ca_n^2 a_{n-1}^2 (b_n - b_{n-2}) + (n-1) a_n^2$$
(8)

and

$$b_{n-1} = b_n + \frac{ca_n^2}{n} \left[a_{n+1}^2 - a_{n-1}^2 \right]$$
(9)

for n = 3, 4, Now we can use (9) to evaluate $b_n - b_{n-2}$ in (8) and proceeding this way we get

$$na_{n-1}^{2} = c^{2}a_{n}^{2}a_{n-1}^{4}(n-1)^{-1}(a_{n-2}^{2}-a_{n}^{2}) + c^{2}a_{n}^{4}a_{n-1}^{2}n^{-1}(a_{n-1}^{2}-a_{n+1}^{2}) + (n-1)a_{n}^{2},$$

which we can rewrite as

$$\frac{n}{a_n^2} - \frac{n-1}{a_{n-1}^2} = \frac{c^2 a_{n-1}^2 a_{n-2}^2}{n-1} - \frac{c^2 a_{n+1}^2 a_n^2}{n+1} - \frac{c^2 a_{n+1}^2 a_n^2}{n(n+1)} - \frac{c^2 a_n^2 a_{n-1}^2}{(n-1)n}.$$
 (10)

Since $a_n^2 > 0$ for n = 1, 2,... we obtain from (10) that the sequence

$$\frac{n}{a_n^2} + \frac{c^2 a_{n+1}^2 a_n^2}{n+1} + \frac{c^2 a_n^2 a_{n-1}^2}{n}$$

decreases for $n = 3, 4, \dots$. Therefore there exists a constant A > 0 such that

$$\frac{n}{a_n^2} + \frac{c^2 a_{n+1}^2 a_n^2}{n+1} + \frac{c^2 a_n^2 a_{n-1}^2}{n} \leqslant A, \qquad n = 3, 4, \dots$$

and thus

 $n \leqslant Aa_n^2 \tag{11}$

and

$$c^{2}a_{n+1}^{2}a_{n}^{2} \leqslant A(n+1)$$
(12)

for $n = 3, 4, \dots$. From (11) and (12) we conclude that

$$c^2 \leqslant \frac{A(n+1)}{a_{n+1}^2 a_n^2} \leqslant \frac{A^3}{n}$$

and letting $n \to \infty$ we get c = 0 so that by (7) formula (3) takes the form

$$p'_n = (n/a_n) p_{n-1}, \qquad n = 2, 3,...$$

which proves (ii) when k = 2 with c = 0. Next let k = 3. Then we have to show that c_n in (2) satisfies

$$c_n = ca_n a_{n-1} a_{n-2}, \qquad n = 3, 4,...$$
 (13)

with some constant $c \ge 0$. We have

$$p'_{n} = (n/a_{n}) p_{n-1} + c_{n} p_{n-3}.$$
(14)

First we will derive some relationships which we will use in establishing (ii) \Rightarrow (iii) as well. If we differentiate the recurrence formula (1) and substitute p'_{n+1} , p'_n and p'_{n-1} by the expression obtained from (14) then we get

$$x\left(\frac{n}{a_{n}}p_{n-1}+c_{n}p_{n-3}\right)+p_{n}$$

$$=(n+1)p_{n}+n\frac{b_{n}}{a_{n}}p_{n-1}$$

$$+\left(a_{n+1}c_{n+1}+a_{n}\frac{n-1}{a_{n-1}}\right)p_{n-2}+b_{n}c_{n}p_{n-3}+a_{n}c_{n-1}p_{n-4}$$

and applying the recurrence formula to xp_{n-1} and xp_{n-3} we end up with

$$np_{n} + \frac{n}{a_{n}} b_{n-1} p_{n-1} + \left(\frac{n}{a_{n}} a_{n-1} + c_{n} a_{n-2}\right) p_{n-2} + c_{n} b_{n-3} p_{n-3} + c_{n} a_{n-3} p_{n-4} + p_{n} = (n+1) p_{n} + n \frac{b_{n}}{a_{n}} p_{n-1} + \left(a_{n+1} c_{n+1} + a_{n} \frac{n-1}{a_{n-1}}\right) p_{n-2} + b_{n} c_{n} p_{n-3} + a_{n} c_{n-1} p_{n-4}.$$
 (15)

Comparing the coefficients in (15) we obtain

$$b_n = b_{n-1},\tag{16}$$

$$\frac{n}{a_n}a_{n-1} + c_n a_{n-2} = \frac{n-1}{a_{n-1}}a_n + c_{n+1}a_{n+1},$$
(17)

$$c_n b_{n-3} = c_n b_n \tag{18}$$

and

$$c_n a_{n-3} = c_{n-1} a_n \tag{19}$$

for n = 2, 3, ... Now (13) follows from (19) with some constant c. In order

to show that c in (13) is nonnegative we apply $c_n = ca_n a_{n-1} a_{n-2}$ to (17) and we obtain

$$\frac{n}{a_n}a_{n-1} + ca_na_{n-1}a_{n-1}^2 = \frac{n-1}{a_{n-1}}a_n + ca_{n+1}^2a_na_{n-1},$$

which we rewrite in the form

$$\frac{n}{a_n^2} - c(a_{n+1}^2 + a_n^2 + a_{n-1}^2) = \frac{n-1}{a_{n-1}^2} - c(a_n^2 + a_{n-1}^2 + a_{n-2}^2)$$

for n = 2, 3, Hence there exists a constant K such that

$$(n/a_n^2) - c(a_{n+1}^2 + a_n^2 + a_{n-1}^2) = K$$
⁽²⁰⁾

for n = 1, 2,.... If c is negative then K > 0 and $n/a_n^2 < K$, $-ca_n^2 < K$ so that $-nc < k^2$, n = 1, 2,..., which is impossible. Thus c in (13) is nonnegative. Consequently we have proved (i) \Rightarrow (ii) when k in (2) equals 3. Now let k > 3 in (2). Differentiating again the recurrence formula (1) and applying (2) we obtain

$$x \left(\frac{n}{a_n} p_{n-1} + c_n p_{n-k}\right) + p_n$$

= $(n+1) p_n + n \frac{b_n}{a_n} p_{n-1} + a_n \frac{n-1}{a_{n-1}} p_{n-2}$
+ $a_{n+1} c_{n+1} p_{n-k+1} + b_n c_n p_{n-k} + a_n c_{n-1} p_{n-k-1}$

so that by the recurrence formula (1)

$$np_{n} + \frac{n}{a_{n}}b_{n-1}p_{n-1} + \frac{n}{a_{n}}a_{n-1}p_{n-2} + c_{n}a_{n-k+1}p_{n-k+1}$$

+ $c_{n}b_{n-k}p_{n-k} + c_{n}a_{n-k}p_{n-k-1} + p_{n}$
= $(n+1)p_{n} + n\frac{b_{n}}{a_{n}}p_{n-1} + a_{n}\frac{n-1}{a_{n-1}}p_{n-2} + a_{n+1}c_{n+1}p_{n-k+1}$
+ $b_{n}c_{n}p_{n-k} + a_{n}c_{n-1}p_{n-k-1}$.

Hence

$$b_n = b_{n-1},$$

$$\frac{n}{a_n} a_{n-1} = \frac{n-1}{a_{n-1}} a_n,$$
 (21)

$$c_n a_{n-k+1} = a_{n+1} c_{n+1},$$

$$c_n b_{n-k} = b_n c_n$$
(22)

and

$$c_n a_{n-k} = c_{n-1} a_n \tag{23}$$

for $n = 2, 3, 4, \dots$. By (23), $c_{n+1}a_{n-k+1} = c_na_{n+1}$ and thus by (22)

$$c_n c_{n+1} a_{n-k+1}^2 = c_n c_{n+1} a_{n+1}^2.$$
 (24)

It follows from (21) that

$$\frac{a_{n+1}^2}{n+1} = \frac{a_{n-k+1}^2}{n-k+1}$$
(25)

for n = k, k + 1,... and substituting (25) into (24) we obtain

$$c_n c_{n+1} = c_n c_{n+1} \frac{n+1}{n-k+1}$$

for n = k, k + 1,.... Hence $c_n c_{n+1} = 0$ for n = k, k + 1,... and by (22) $c_n = 0$ for n = k, k + 1,.... Thus again we see that (ii) holds with c = 0.

(ii) \Rightarrow (iii): We proved that (14) implies (16) and (2) which is equivalent to (iii) provided that $b_1 = b_0$ as well. We can show $b_1 = b_0$ as follows. We have

$$xp_1 = a_2 p_2 + b_1 p_1 + a_1 p_0$$

and differentiating this and using

$$p_2' = (2/a_2) p_1$$

we obtain

$$x\gamma_1 + p_1 = 2p_1 + b_1\gamma_1$$

so that

$$p_1 = \gamma_1 (x - b_1).$$
 (26)

By the recurrence formula

$$xp_0 = a_1 p_1 + b_0 p_0.$$

140

Hence

$$p_1 = \gamma_1 (x - b_0). \tag{27}$$

Comparing (26) and (27) we can conclude that $b_1 = b_0$.

 $(iv) \Rightarrow (ii)$: Let d be given by (iv). Then integration by parts yields

$$\int_{-\infty}^{\infty} p_n'(x) p_l(x) d\alpha(x) = \int_{-\infty}^{\infty} [p_n(x) p_l(x)]' d\alpha(x)$$

$$= \int_{-\infty}^{\infty} p_n(x) p_l(x) [c(x-b)^3 + K(x-b)] d\alpha(x)$$
(28)

for $n > l \ge 0$. Hence

$$\int_{-\infty}^{\infty} p'_n(x) p_l(x) \, d\alpha(x) = 0, \qquad 0 \le l < n-3 \tag{29}$$

and since $d\alpha$ is symmetric with respect to b, $p_n(x)p_{n-2}(x)$ is an even polynomial in the variable (x-b) so that by (28)

$$\int_{-\infty}^{\infty} p'_n(x) \, p_{n-2}(x) \, d\alpha(x) = 0. \tag{30}$$

Moreover,

$$\int_{-\infty}^{\infty} p'_{n}(x) p_{n-1}(x) d\alpha(x) = \int_{-\infty}^{\infty} [n\gamma_{n} x^{n-1} + \cdots] p_{n-1}(x) d\alpha(x) \qquad (31)$$
$$= \frac{n}{a_{n}} \int_{-\infty}^{\infty} [\gamma_{n-1} x^{n-1} + \cdots] p_{n-1}(x) d\alpha(x) = \frac{n}{a_{n}}$$

and by (28)

$$\int_{-\infty}^{\infty} p'_{n}(x) p_{n-3}(x) d\alpha(x) = c \int_{-\infty}^{\infty} p_{n}(x) p_{n-3}(x)(x-b)^{3} d\alpha(x)$$
(32)
$$= c \int_{-\infty}^{\infty} p_{n}(x) [\gamma_{n-3}x^{n} + \cdots] d\alpha(x)$$

$$= c \frac{\gamma_{n-3}}{\gamma_{n}} \int_{-\infty}^{\infty} p_{n}(x) [\gamma_{n}x^{n} + \cdots] d\alpha(x)$$

$$= c \frac{\gamma_{n-3}}{\gamma_{n}} = c \frac{\gamma_{n-1}}{\gamma_{n}} \frac{\gamma_{n-2}}{\gamma_{n-1}} \frac{\gamma_{n-3}}{\gamma_{n-2}} = ca_{n}a_{n-1}a_{n-2}.$$

It follows from (29), (30), (31) and (32) that the Fourier series expansion of p'_n in the system $\{p_l\}$ is given by

$$p'_{n} = (n/a_{n}) p_{n-1} + ca_{n}a_{n-1}a_{n-2}p_{n-3},$$

which establishes (ii).

(iv) \Rightarrow (iii): If $d\alpha$ is defined by (iv) then it is symmetric around b so that all the coefficients b_n in the recurrence formula (1) equal b. We can find the coefficients a_n from (28), (31) and the recurrence formula. Since $b_n = b$ for n = 0, 1, 2,..., we have

$$(x-b) p_{n-1} = a_n p_n + a_{n-1} p_{n-2},$$

$$(x-b)^2 p_{n-1} = a_n a_{n+1} p_{n+1} + (a_n^2 + a_{n-1}^2) p_{n-1} + a_{n-1} a_{n-2} p_{n-3}$$
(33)

and

$$(x-b)^{3} p_{n-1} = a_{n}a_{n+1}a_{n+2}p_{n+2} + a_{n}(a_{n+1}^{2} + a_{n}^{2} + a_{n-1}^{2})p_{n}$$
(34)
+ $a_{n-1}(a_{n}^{2} + a_{n-1}^{2} + a_{n-2}^{2})p_{n-2} + a_{n-1}a_{n-2}a_{n-3}p_{n-4}.$

Combining (28), (31), (33) and (34) we obtain

$$n/a_n = ca_n(a_{n+1}^2 + a_n^2 + a_{n-1}^2) + Ka_n$$

and thus (iii) holds.

(iii) \Rightarrow (iv): The moment problem for $d\alpha$ in (iv) has a unique solution [3, p. 80]. Hence it suffices to show that for any given real c, b and K such that $c \ge 0$ and K > 0 if c = 0, the equations

$$n = ca_n^2 [a_{n+1}^2 + a_n^2 + a_{n-1}^2] + Ka_n^2,$$
(35)

 $n = 1, 2, ..., a_0^2 = 0$ and

$$b_n = b$$
,

n = 0, 1, 2,..., have unique real solutions $\{a_n\}$ and $\{b_n\}$ such that $a_n > 0$ for n = 1, 2,.... Obviously it is sufficient to examine solutions of (35). Moreover, if c = 0 in (35) then a_n^2 is uniquely determined. Now suppose that c in (35) is positive. When K = 0 in (35) then the uniqueness of $\{a_n\}$ was proved in [14] and [17]. For arbitrary K we use the following argument. Let $\{a_n\}$ be a sequence satisfying (35) and assume that $a_n > 0$ for n = 1, 2,.... Define the sequence of polynomials $\{q_n\}$ (n = 0, 1,...) by the recurrence formula

$$xq_{n}(x) = a_{n+1}q_{n+1}(x) + a_{n}q_{n-1}(x),$$
(36)

 $n = 0, 1, ..., q_0(x) = 1$. By Favard's theorem [3, p. 60] there exists a

distribution $d\beta$ such that the polynomials q_n are orthonormal with respect to $d\beta$. We have by (35)

$$n/a_n > ca_n^3 + Ka_n$$

from which

$$a_n^2 \leqslant \frac{-K + \sqrt{K^2 + 4nc}}{2c}$$

so that

$$\sum_{n=1}^{\infty} a_n^{-1} = \infty.$$

Thus by Karleman's theorem [21, p. 59] the distribution $d\beta$ is uniquely determined by the sequence $\{a_n\}$ and by q_0 . It follows from (36) that q_n is either even or odd depending whether *n* is even or odd. Hence

$$\int_{-\infty}^{\infty} x^{2n+1} d\beta(x) = 0, \qquad n = 0, 1, 2, \dots$$
 (37)

Moreover, we have

$$\int_{-\infty}^{\infty} xq_n(x) q_{n-1}(x) d\beta(x) = a_n,$$
$$\int_{-\infty}^{\infty} x^3 q_n(x) q_{n-1}(x) d\beta(x) = a_n(a_{n+1}^2 + a_n^2 + a_{n-1}^2)$$

and

$$\int_{-\infty}^{\infty} \left[q_n(x) \, q_{n-1}(x) \right]' \, d\beta(x) = \frac{n}{a_n}$$

for n = 1, 2, ..., so that by (35)

$$\int_{-\infty}^{\infty} [q_n(x) q_{n-1}(x)]' d\beta(x) = \int_{-\infty}^{\infty} q_n(x) q_{n-1}(x) [cx^3 + Kx] d\beta(x)$$

for n = 1, 2,.... Since $q_n q_{n-1}$ is an odd polynomial of degree exactly 2n - 1, the system $\{q_n q_{n-1}\}$ spans all odd polynomials. Thus

$$(2n-1)\int_{-\infty}^{\infty} x^{2n-2} d\beta(x) = \int_{-\infty}^{\infty} x^{2n-1} [cx^3 + Kx] d\beta(x).$$
(38)

We obtain from (37) and (38) that

$$(n+1)\int_{-\infty}^{\infty} x^{n} d\beta(x) = \int_{-\infty}^{\infty} x^{n+1} [cx^{3} + Kx] d\beta(x)$$
(39)

for n = 0, 1, 2,.... We can rewrite (39) in terms of the moments μ_n of $d\beta$ as

$$(n+1)\mu_n = c\mu_{n+4} + K\mu_{n+2}, \qquad n = 0, 1, 2, \dots$$
 (40)

Now we will show that

$$\lim_{n \to \infty} n^{-1} (\mu_n)^{1/n} = 0.$$
 (41)

Let n be even. Then by (40)

$$c\mu_{n+4} \leq (n+1+|K|) \max\{\mu_{n+2},\mu_n\}$$

and applying this inequality repeatedly we obtain

$$c^{N/2}\mu_N \leq (N+|k|-3)^{(N-2)/2} \max\{\mu_2,\mu_0\}$$

for N = 4, 6,..., from which (41) follows since by (37) $\mu_n = 0$ for *n* odd. It follows from (39) and (41) that

$$\sum_{n=0}^{\infty} \frac{t^n}{n!} (n+1) \int_{-\infty}^{\infty} x^n \, d\beta(x) = \sum_{n=0}^{\infty} \frac{t^n}{n!} \int_{-\infty}^{\infty} x^n [cx^4 + Kx^2] \, d\beta(x)$$

is an entire function of t, and interchanging summation and integration we obtain

$$\int_{-\infty}^{\infty} (tx+1) e^{tx} d\beta(x) = \int_{-\infty}^{\infty} e^{tx} [cx^4 + Kx^2] d\beta(x).$$
 (42)

Since by (37)

$$\int_{-\infty}^{\infty} \left[cx^3 + Kx \right] d\beta(x) = 0, \qquad (43)$$

integration of (42) with respect to t yields

$$t\int_{-\infty}^{\infty} e^{tx} d\beta(x) = \int_{-\infty}^{\infty} e^{tx} [cx^3 + Kx] d\beta(x).$$
 (44)

144

Letting t = iu, u real, and integrating the right side of (44) by parts we obtain by (43)

$$\int_{-\infty}^{\infty} e^{iux} d\beta(x) = -\int_{-\infty}^{\infty} e^{iux} \int_{-\infty}^{x} \left[cy^3 + Ky \right] d\beta(y) dx.$$
 (45)

It follows from (44) that

$$\lim_{u\to\infty}\int_{-\infty}^{\infty}e^{iux}\,d\beta(x)=0.$$

Thus by Wiener's theorem [22, p. 261]

$$\beta(x) = \int_{-\infty}^{x} d\beta(y)$$

is a continuous function of x. Now we can apply the inverse Fourier transformation to both sides of (45) and we arrive at

$$\int_0^x d\beta(y) = -\int_0^x \int_{-\infty}^y \left[cz^3 + Kz \right] d\beta(z) \, dy$$

so that $d\beta$ is absolutely continuous and

$$\beta'(x) = -\int_{-\infty}^{x} [cz^{3} + Kz] d\beta(z) = -\int_{-\infty}^{x} [cz^{3} + Kz] \beta'(z) dz.$$

Therefore we obtain that β' is absolutely continuous as well, and

$$\beta''(x) = -[cx^3 + Kx]\beta'(x).$$

Consequently,

$$\beta'(x) = \operatorname{const} \exp\left[-\frac{c}{4}x^4 - \frac{K}{2}x^2\right]$$
(46)

where the constant is uniquely determined by the condition

$$\int_{-\infty}^{\infty} q_0(x)^2 d\beta(x) = \int_{-\infty}^{\infty} d\beta(x) = 1.$$

We have

$$a_1^2 = \frac{\gamma_0^2(d\beta)}{\gamma_1^2(d\beta)} = \frac{1}{\gamma_1^2(d\beta)} = \int_{-\infty}^{\infty} x^2 d\beta(x)$$

640/40/2-4

so that by (46)

$$a_{1}^{2} = \int_{-\infty}^{\infty} x^{2} \exp\left[-\frac{c}{4}x^{4} - \frac{K}{2}x^{2}\right] dx \left| \int_{-\infty}^{\infty} \exp\left[-\frac{c}{4}x^{4} - \frac{K}{2}x^{2}\right] dx.$$
(47)

Thus we proved that if $\{a_n\}$ satisfies (35) and $a_n > 0$ for n = 1, 2,... then a_1 is given by (47), which means that the sequence $\{a_n\}$ is uniquely determined. Thus the theorem has been completely proved.

Acknowledgments

It was the first author [1] who noticed that since the derivatives of the orthogonal polynomials associated with $exp(-x^k)$, k even, are linear combinations of a bounded number of the same polynomials, one can find pointwise estimates for these polynomials. Applying this observation of the first author, the second author [17] obtained more refined estimates for the orthogonal polynomials corresponding to $exp(-x^4)$ and these estimates were used to prove asymptotics for such polynomials in [17] and [18]. While the authors presented their ideas at a seminar talk at The Ohio State University, R. Bojanic raised the problem of characterizing all orthogonal polynomials whose derivatives are linear combinations of a bounded number of the same polynomials. This paper grew out of the research initiated by R. Bojanic's problem, and its content was several times discussed with him. The authors express their gratitude to him.

References

- 1. S. BONAN, Applications of G. Freud's theory, I, in "Approximation Theory, IV" (L. Schumaker, Ed.), Academic Press, New York, in press.
- 2. N. G. CEBOTAREV, Mathematical autobiography (Russian), Uspekhi Mat. Nauk 4 (26) (1948), 3-66.
- 3. G. FREUD, "Orthogonal Polynomials," Pergamon, Elmsford, N.Y., 1971.
- 4. B. M. GAGAEV, Sur l'unicité du système de fonctions orthogonales invariant relativement à la dérivation, C. R. Acad. Sci. Paris 188 (1929), 222-225.
- 5. B. M. GAGAEV, On some classes of orthogonal functions (Russian), *Izv. Akad. Nauk* 10 (1946), 197–206.
- B. M. GAGAEV, On N. N. Luzin's generalized problem (Russian), Izv. Vuzov Mat. 3 (16) (1960), 101-103.
- B. M. GAGAEV, Achievements of mathematicians in Kazan on orthogonal systems, *in* "Investigations on Contemporary Problems in Constructive Function Theory" (Russian) (V. I. Smirnov, Ed.), pp. 168–178, Moscow, 1961.
- JA. L. GERONIMUS, On polynomials with respect to numerical sequences and on Hahn's theorems (Russian), *Izv. Akad. Nauk* 4 (1940), 215–228.
- 9. M. GHERMANESCU, Orthogonal sequences invariant under differentiation (Rumanian), Bul. Stiint. Math. Fiz. ARPR 8 (1956), 537-547.
- B. V. GNEDENKO, Uniqueness of systems of orthogonal functions invariant under differentiation (Russian), Dokl. Akad. Nauk 14 (1937), 159-162.

- W. HAHN, Uber die Jacobischen Polynome und zwei verwandte Polynomklassen, Math. Z. 39 (1935), 634-638.
- 12. H. L. KRALL, On derivatives of orthogonal polynomials, Amer. Math. Soc. Bull. 42 (1936), 423-428.
- H. L. KRALL, On higher derivatives of orthogonal polynomials, Amer. Math. Soc. Bull. 42 (1936), 867–870.
- 14. J. S. LEW AND D. A. QUARLES, Nonnegative solutions of a nonlinear recurrence, J. Approx. Theory 38 (1983), 357-379.
- D. C. LEWIS, Orthogonal functions whose derivatives are also orthogonal, *Rend. Circ.* Mat. Palermo (2) 2 (1953), 159-168.
- N. N. LUZIN, Integral and trigonometric series, in "Collected Works of N. N. Luzin," Vol. 1, pp. 48-212, Academy of Sciences of the USSR, 1953.
- 17. P. NEVAI, Orthogonal polynomials associated with $exp(-x^4)$, in "Second Edmonton Conference on Approximation Theory," Canad. Math. Soc. Conf. Proc. 3 (1983), 263-285.
- 18. P. NEVAI, Asymptotics for orthogonal polynomials associated with $exp(-x^4)$, SIAM J. Math. Anal., to appear.
- 19. J. SHOHAT, The relation of the classical orthogonal polynomials to the polynomials of Appell, Amer. J. Math. 58 (1936), 453-464.
- 20. J. SHOHAT, A differential equation for orthogonal polynomials, *Duke Math. J.* 5 (1939), 401-417.
- 21. J. A. SHOHAT AND J. D. TAMARKIN, "The Problem of Moments," Amer. Math. Soc., Providence, R.I., 1943.
- 22. A. ZYGMUND, "Trigonometric Series," Vol. 2, Cambridge Univ. Press, London/New York, 1977.